TO0ZEOZ66LZIOLTLGT ..“:z \ T00T+0900ZL0Z0SB6T "dIN
HS Bupquag e emewoy I15'iy “3's 'snBy pewiweyngy

Gueuidieydueg NnL uejpeduag

uesedduy eundsuad eseny usunjwoy jenquia jeqefad
2Z0Z PN 1€ TueuidieySued
o001 000'0SE oo - looo G [oo0 - 000'05E uepEBueg /uenyeiaquiad uruiBuag -
00'001 000'05€ oo'o - 000 - 00’0 . 000°05€ oy wejeq seu|g ueue|efiag efurjag £11+25
00001 000'00% 000 = 000 o 000 T 000°00% JojuEy SINL e -
00001 000'00% 000 5 oo . 000 * 00000+ I N dueseg |pasiag dueseg eluejag TIBIZS
0000t 000°008 00'o = 000 . 000 = 000'008 vaeyiad seyiaq uepy|iiuad uep ueepueSiuay -
00001 0o0'008 00’0 = 00°0 - 0o - 000'008 ueyeg ejuejag T1Z128

L5999 000°002°61 EEEE 000°009'6 EE8 000°00%'2 00°SZ 0000022 000°008°8Z

L9°99 000°00Z'61 EEEE 0000096 £E'8 000°00+' 00°SZ 000'002'L 000°D0B'BT uejnsuoy esef efuejag 1£1225
90°55 BOSZIET re v TOV'LBET oLLt 000'9FL a1z HAa i aY 000°00Z'% wnqueqsod ¥1v -
90°5 S BOS'ZIE'Z 6y T6¥'LEE'T 9LLl 000'9¥L 81°LZ 6K IF1L 000'00T'F I Ipasiag Sueieg ejuejag 118125
00001 000'005'2 000 * 000 # 000 * 0000052 Buepig ururwrSuag iswnsuoy -

s densatnc e - e T P 1 P T T L LA rnasens
66°89 §'295'ST 10'1E T6¥'LAFIL +'8 000°9%1'E Z6¥'TFE'S 000°0S0"LE ueluosasiad wnyny uemueg ueuele) Yaa'6501

: . IHE ek

(0014 £/01) =TT (0014 £/8) =6 [9+4) =8 (0014 £/9) = ¢ ¥ £ z 1

% % | IVLOL % % | VL0L
¥ ¥,
INI NV'ING 0/ YNV ¥51S INI NVING O/5 1SYSITVaY INI NYIN ISVSITYEY [TV NVING /S ISYSITVAY dianovd Nvivan adox
1Z02/6Z+E0FT'50-500 - VdIQ 4§ * vdid 'oN

2202 1IN NYV'INd soo ¢ NVHVDONY NVIOVE

TVANYIN NVHVIINY ISVSITVIH NVHOdV'T DONVNITTVHONVA VHVDIN VHVSN VLVL NVIIQYONTd ¢ YDILVS AOH/HIHLYS



